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fuffe o . d=we) [3tfereham 31 : 70
Time allowed : Three Hours] [Maximum Marks : 70

e (i) VYA AAGE S, 977 G [FEFgia & 3w fd |

Note : - Question No. 1 is compulsory, answer any FIVE questions from the remaining.

(i) HeIF o7 & G YT F) FHAR O G157 B3 /|
Solve all parts of a question consecutively together.
(iii) X% F¥7 F) 79 78 & IRE] Ford |
Start each question on fresh page.
(iv) &1 §T91371 § 377 817 1 1Rt 3 srgae S = 8 1

Only English version is valid in.case of difference in both the languages.

. (i) ‘TH0E-3’ IS ) GHST |
Explain ‘Excess-3’ code.
(i) PSW (I RH I€) & TYehT FIT qe9d & 7
What do you mean by PSW (Program Status Word) ?
(ili) RAR @d RRC f3dwm = gmemsy |
Explain the instructions RAR & RRC.
(iv) ‘srRAfrs-feafir i gav 3 sagmu |
Explain ‘Dynamic-Debugging’ in brief.
(v) T¥&@ LHLD 2040 H # foheft T-states 21t & ? :

How many T-states are there in the instruction LHLD 2040 H ? (2x5)

(10f4) P.T.O.



Program to find smallest number in an array of 10 data.
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2. (i) = Ewgmsec
Explain the following :
(a) BT HIS
Hamming code
(b) ASCII®Ig
ASCII Code (3x2)
(i) () (65),,(95),, | & 2’s I ! HEwadl § €e3T |
Subtract (65),, from (95),, using 2’s cdmpliment.
(b) AT g TR ! THATST |
Explain floating point number. (3x2)
3. 8085 HTgshisaER hi forand () i forga &9 & wHeET |
Explain the operations (functions) of 8085 microprocessor in detail. 12)
4. (i) 8085 HIEhINIEER o fafir= sgwe =t aHesT |
Explain different interrupts of 8085 microprocessor.
(ii) 8085 TTEEHIIAE & faftr= ‘TgRim-wie’ #i awssy |
Explain different ‘Addressing-Modes’ of 8085. (6x2)
5. (i) 8085 pp H AEAIHEE TSH-S1ET 9 (AD, — AD,) i fS-Aediifaem i FHaAET |
Explain demultiplexihg of multiplexed address-data bus (AD, — AD-) in 8085
Hp. :
(i) FO%E /O 3R A A 1/0 # fardig i wmemsT |
Explain the difference between peripheral I/0 and memory mapped I/O. (6x2)
6. T s@raeht das o feafew
| Write following assembly language program :
(i) & 3-fare et =l ge3t, fomr a0 (3uW) &
Subtraction of two 8-bit numbers without borrow.
(i) 10 STeT i JET H 8 T BIE T 1 BT |

(6x2)
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0 MVI A, 06 H %1 @71 3TR@ 15T T FHESY | 12 & Fof T-Re h wen oft 1
HfT | - » :

Draw and explain the timing diagram for instruction MVI A, 06 H. Also, find out total
number of T-states. (12)

= 4 & ot @ w wiftre feoafirai fiflee
Write short- notes on any two of the following :
(i) 8085 up % wrEr fFréw
Branching Instructions of 8085 pp.
(i) T T TR Heft fgwmE (Fdw)
Subroutine and related instructions.
(iii) ATSFRIHIIE HT WIS

Organization of a Micro-computer (6x2)







